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Questions

Wood contain the amount of carbon.

The coal in which the percentage of carbon is 60%

Carbon content in coke is.

The strong heating of coal in the absence of air called.

Percentage of carbon in peat is.

The carbon contents in lignite is.

What one of the following does not contain protein?

The ability of carbon atom to form chain is called.

Bond energy of C-Cis.

The ability of carbon atoms to form chains or ring called.

Number of discovered element till today are.

The example of heterocyclic compound is.

Answers Choice

A

UOwWP» 0UOwWP UOWP U0WP U0WP UOwWP U0WP U0WP U0WP U0UE U0oWwr U0W

. 70%
. 80%
.60%
. 40%

. Peat

. Lignite

. Bituminous
. Anthracit

. 80%
. 98%
. 70%
. 88%

. Fractional Distilation
. Destructive Distiation
Carbonization

. Catenation

50%
60%
70%
80%

80%
50%
60%
70%

Pulses
Potatoes
Beans

Eggs

Isomerism
. Catenation
. resonance
. Condensation

200 KJmol<sup>-1</sup>
452 KJmol<sup>-1</sup>
300 KJmol<sup>-1</sup>
355 KJmol<sup>-1</sup>

Hydrogenation
Chlorination
Cantenation

. Halogenation

140
118
90
16

Benzene
Hexane

. Cyclohexane
. Pyridine



